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Test for Bingham Plastic

1.29E-03

a= 0.01| m
tau_0 = 77.55| N/mA2
eta = 0.03265| kg/m s
pi = 3.14159
factor = 15,510
Observed Predicted Squared
(-dp/dz) Q Q Differences
Pa/m = N/m"3 mA3/s mA3/s
100,000 1.11E-02 9.54E-03 2.42E-06
90,000 9.12E-03 8.34E-03 6.07E-07
80,000 7.13E-03 7.14E-03 9.34E-11
70,000 4 87E-03 5.94E-03 1.14E-06
60,000 3.36E-03 4.74E-03 1.91E-06
50,000 2.35E-03 3.55E-03 1.43E-06
40,000 1.29E-03 2.36E-03 1.15E-06
30,000 6.89E-04 1.21E-03|- 2.68E-07
20,000 2.64E-04 2.08E-04 3.11E-09
10,000 5.37E-05 1.04E-03 9.64E-07
; Sum = 9.89E-06
|
Test for Power-Law Fluid
n= 0.437] -
K= 6.709| (kg/m s) sA(n-1)
const =1 1.5914E-11
[pi*n*ar(1/n_+ 3)/(1 + 3*n)]
Observed Predicted Squared
(-dp/dz) Q Q Differences
Pa/m = N/mA3 mA3/s mA3/s
100,000 1.11E-02 1.13E-02 5.51E-08
90,000 9.12E-03 8.91E-03 4 47E-08
80,000 7.13E-03 6.81E-03 1.05E-07
70,000 4.87E-03 5.02E-03 2.11E-08
60,000 3.36E-03 3.53E-03 2.74E-08
50,000 2.35E-03 2.32E-03 6.79E-10
40,000 1.40E-03 1.11E-08
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